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Q1.										10 marks
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Q2. 										15 marks
Express as a single fraction: 						
 - 
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Q3.										10 marks
Evaluate  (i) 		(ii) 
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Q4.										30 marks 
(a) Solve the equation: 
[image: ]

(b) Solve  Round your answer to two decimal places.
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(c) Verify that  is a root (solution) of the equation 0
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Q5.										10 marks
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Q6 										35 marks
(a).
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Q6 (b). The area of this rectangle is 24                    (3x – 4) cm 
Find the length and width of the rectangle 					(x -1) cm 
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Q7 										40 marks
(a). Find the value of the x in each of the following 
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Q7 (b). 	Solve for x and y 
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Q8.										30 marks
a) Factorise:   
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b) Factorise: 	      
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c) Factorise:              
[image: ]
Q9. 										20 marks
Form quadratic equations with the following roots:  			 

(i) 2, 4    
(ii)  
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Q10 								

[image: ]





Q11
[image: ]








Q12
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Q13
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Q14
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Q15 
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Q16
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Q18 
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Use the properties of surds to show that Vo8 —18 +2 simplifies to 52,
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A biased die 1s used in a game. 1he probabilities of gerting the 0 different numbers are:

Number

3

4

5

6

Probability 0.25

0.25

0.15

0.15

0.1

0.1

a. Calculate the expected value

b. It costs €3 to play the game. The person rolls the die and wins the amount of €

Jfor the number shown on the dice. Should they play the game? Why?

c. Now find the expected value for the same game using a fair die.
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Probability Keywords:

For each keyword write a definition and give an example or give a formula:

B)

v

9

)

»

Probability scale

Sample space:

Probability of an event

Independent event:

Mautually exclusive event

Bemoulli trial

Expected frequency:

Expected value

A biased die:

Tree diagram.
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The stem and leaf diagram below shows the number of copies of the Newry News sold each week
over 17 weeks in a particular shop.

The value in the diagram for one of the weeks is p, where p € N, 1 < p < 10.

o |8

| ¢ o 9 9
20| O e TS 8
3|2 4

41 3 p

Key: 3|2 = 32 copies of the Newry News

(a) The range of the data is 39. Find the value of p.

(b) Find the value of each of the following statistics for this data:
(i)  the mode

(ii) the median.
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(c) The sum of the data in the stem and leaf diagram is 431.
Use this fact to find the mean of the data, correct to one decimal place.

(d) Inthe 18th week there was a special issue of the Newry News, and there were a lot more
copies of it sold than in any of the other weeks.

(i)  Find the modal number of copies sold per week over the whole 18 weeks
(i.e. the mode).

(ii)  Find the median number of copies sold per week over the whole 18 weeks.

(iii) The mean number of copies sold per week over the whole 18 weeks was 28-5.
Work out the number of copies that were sold in the 18th week.
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Eithne is going to survey post-primary Geography teachers in Ireland.

(@) Some of the questions in the survey are shown in the table below.
Putatick (¥ in the correct box to show what type of data each question would give.

I

Question

Numerical
Continuous

Numerical
Discrete

Categorieal
Nominal

Categorieal
Ordinal

How many Geography classes do you
teach cach week?

How much do you like teaching Geography?

Alot  Alile Notatall
=} =] =}

‘What subjects (other than Geography)
do you teach?

Eithne is going o send her survey to some of the post-primary schools in Ireland.

(b)  Describe how Eithne could select a Simple Random Sample from all the post-primary

schools in Ireland.

Eithne is considering sending her survey by email.

(¢) State one advantage and one disadvantage of using email to collect data.

Advantage:

Disadvantage:
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Pauline flips a fair coin 3 times, and records the outcomes.
She writes 7 for cach head and T for cach tal.

®  Complete the table below to show sl of the possible outcomes.
Two outcomes have already been filled in for you

HHH

nur

() Find the probability of getting two heads and one tail.

() Jamie says: “You have the same probability of getting three heads as you do of getting two
heads and one tail”
Do you agree with Jamic? Give a reason for your answer.
Answer.

Reason:

() Max says: “You have the same probability of getting H H H as you do of getting H T H."
Do you agree with Max? Give a reason for your answer.

Answer.

Reason:
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ays 2
"3

(@ Kevintakes a penalty. What is the probability that he doss nat score?

When taking & penalty kick, the probabiliy that Kevin scores s l

() Kevin takes two penaltics. What s the probabiliy that h scorcs both?

(9 Kevin takes three penalics. What s the probability that he scores exactly fwice?

(@ Kevintakes fiv penalics. What s the probability that he scores for the firsttime on bis ity
penalty?
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A biased dic is used in a game. The probabilites of getting the
i diffrent numbers on he dic are shown in the table below.

Nmber | 1 [ 2 [ 3 [ 4| s |
Probabilty | 025 | 025 | 015 | 015 | o1 | o1

(@) Find the expected valuc of the randorm variable X,
where X is the mumber thrown,
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Qs

The Line p makes equal intecepts on the axes 2t A aad B, 2 shown.

q %

(2) Write down the slope of p.

Slope of p

‘The point (1,5)is on p. Find the equation of p. Write your answer in the form ax +by +
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The circle ¢, has equation (x ~ 1F + (v~ 1/ =25.
P — ()

Wit down the ength o the radius ofc,

(@) Draw the cice ¢, onthe gid below. Each uniton th co-odinte grid i 1 e
]
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z=2+5iis a complex number, where i’ =—1.

(a) Plotzand iz on the Argand diagram.

() (i) Verify algebraically that |z| = | iz|.

(i) Give a reason why | z| =|iz| will always be true for any

(¢) Show that z is a root of the equation z* — 4z +29 =0
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